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statements. Choose the correct answer and shade the correct aption in the
OMR Answer Sheet given to you with a black | blue ball potnl pen.
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The device that works on the princigle of electromagnetic mnduction is
LAy electnic generator (Bl electric heater

(C] eleciric motor (D) electnic ln
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The inner wall of the solar cooker is painted black because this
(A) reflects light IB] * converges solar radiations’

(€] prevents from rusting (D) absorbs more heat
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A sectangular coil of copper wire is rotated in o mugnetic f

«direction of the induced current changes once in each
N

{A) two revolutions (B) one revolution

| -{€) half revolution (D) one-fourth revolution it
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The focal length of a lens is + 0.50 m. The power of the lens and type are
(A] + 2.0 D and convex lens (3] + 20D and concave lens

(€} -2.0 D and concave lens (B} =2.0 D and convex lens whll
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A device used to change the resistance in the electric circuit is

[‘ﬁ! voltmeter ‘ |-El] ammeter

(C) galvanometer 1B, rheostat




The mng:nehc field lines inside o solenoid are in the form of parallel

straight lines The reason for this is, the magnetie field inside the solenoid
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(D) produced by electric current
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The nature and the size of the image formed when an nl:ljcct.E kept

- Between the principal focus F, 1 and optical centre O of a convex lens are

-M\'Irtua], erect and enlarged
18) 1_,, al, inverted and small size
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“The device that converts clectrical energy into mechanical energy I8 l
e 2l
(Al electric generator (B solar cell '

fC) dry cell (D) electric motor
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‘Ohm' is the 51 unit of
(A} electric potential difference (B) resistance

{C} electric current ([} electric charge
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In which material medium the speed of light is very high ?
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The source of energy in nuclear power reactor is
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One property of a convex lens among the following s that, it

Hw diverges the Light rays
(B) in thicker at the edges and thinner at the middle
(C) forms real and erect mmage

(D) s thinner at the edges and thicker at the middle
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A compound that reacts with both acids as well as bases 1o produce salis

and water 1s

(A} aluminium oxide (B) copper oxide

sodium oxade

[C) iron oxide (D]
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The atructural formula of propanal is
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“Properties of elements are a periodic function of their atomic n
This law was proposed by

- Newlands (B) Mendelesy

(D) Henry Moseley
[1s01 ]

N Sestromics




1 SeOst 3, oV slararw 4 clnbiedol Sodod 60

A} Zn » Fe » Cu By Fe>Cu»Zn
{C} 2n>Cu>»Fe D} Ca>»Fe>Zn

Observe the [ollowing chemical peactions

Fe s Euﬂ{l‘ # FeSD) st CU
Zn * FeS0 ,—» Zni0 * Fe
The decreaning order of reactivity of the metals in the above reactions is

fA] Zn>Fe>Lu (B} Fe>Cu>Zn

ity Cu>Fe>»#Zn

i) Zn>Cu>Fe
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The atomic number of an clement is 20, In the modern penodic table, this
clement belongs to the penod .
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: Eﬁ“‘mﬂ*m bonds and double bonds present in a tructure of

‘benzene molecule respectively are
(A) 3and?9 B) 9and3

{C) Gand6 (D) 7and5 ;
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The gas liberated when sodium carbonate reacts with dilute hydrochlornic
acid 1s

(A} carbon dioxide B nitrogen diocade

{C) hydrogen (D} chlorine
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The major component of compressed natural gas is
(A) butane (B) ethane

(D) propane
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. fﬂn lime water A8 pure water

-.:' ;_-'[H' sodium hydroxide solution ([ gasiric juce
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The process used 1o convert sulphide ores of metals into their oxides is

’Pr calcination (B] roasting

iC) reduction (D) electrolyms

5 A) C H, B) CgHyy

(€ CgHy, D) CgHyg

C
~ The commaon molecular formula of both hexene and cyclohexane s ’* | ;‘
A} CeHg (B CeHyy r

D) CcH,
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tci citric acid D) lactic acid
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The hormone that regulates carbohydrate, protein and fat meta

the human body is

{A] Testostcrone (Bl Adrenaline

A& Insulin
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A pot that has growing seedling is kept in a dark room. A burning ¢
placed near it for a few days. The top part of the acndlhlgm
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following is these substances

| ] undergo recycling naturally in the environment

(B) harm various organisms in the econystem '

IC) increase the density of harmful chemicals in different trophac levels

(D) remain inert in the environment for a long time
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The correct sequence found in the process of sexual reproduction in a
flower 15
(A) pollination, fertilization, seed, embryo
(B} seed, embryo, fertilization, pollination

embryo, seed, pollination, fertilization

(D) pollination, fertilization, embryo, seed
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If a round green sceded pea

plant |

(4]

(B)

(D)

=
reduce

repurpose

KRyw | 1s crossed with wrinkled yellow

seeded pea plane [ rYY |, the seeds produced in F | Reneration are

(Al round and Ereen secds

jﬁf’?mtmd and vellow seeds
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wnnkled and yellow seeds

wrinkled and green seeds
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_ (D) have different structures and perform different functions
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The blood vessels that carry blood from all parts of the human body to the

heart are .
,J}T\, artenes (B] capillaries
! (C) pulmenary arteries BT veins
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Plants can get rid of excess of water by this process ’
[A) Transpiration (B] Photosynthesis
| (C) Respiration (D) Translocation
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sprcial part called
(Al  Fallogian tube M Ovary
| ) Uterus 400 " Placenta
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The common passagr for both aperma and unne in human male

reproductne aysiem is
AT Urethra B Uretes

IC) Vas defrrens (4 Urinary bladder
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The expenences of an mdnadunl dunng its hfetume cannot be passed on (o
its progeny because, they are

Al inherited trants .-*H::"Hm:qmrﬂl tris
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